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7.1 7.2 

 

___________________________________________________________________________ 
 

 max. 2 body 
 

7 Vypočítejte a výsledek vyjádřete v uvedených jednotkách. 
 

7.1  1,5 dm2 + 75 mm2 =                    mm2   
 

7.2  1 m3 − 50 litrů =                    litrů 

___________________________________________________________________________ 
 

V záznamovém archu uveďte čísla doplněná do rámečků. 
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7.1 7.2 

 

𝟏𝟓 𝟎𝟕𝟓 𝟗𝟓𝟎 

___________________________________________________________________________ 
 

 max. 2 body 
 

7 Vypočítejte a výsledek vyjádřete v uvedených jednotkách. 
 

7.1  1,5 dm2 + 75 mm2 =                    mm2   
 

7.2  1 m3 − 50 litrů =                    litrů 

___________________________________________________________________________ 
 

Řešení 7.1 
 

1,5 dm2 + 75 mm2 = 15 000 mm2 + 75 mm2 = 𝟏𝟓 𝟎𝟕𝟓 𝐦𝐦𝟐 
 

1,5 dm2 + 75 mm2 =    15 075     mm2 
 

Řešení 7.2 
 

1 m3 − 50 litrů = 1 000 dm3 − 50 litrů = 1 000 litrů − 50 litrů = 𝟗𝟓𝟎 𝐥𝐢𝐭𝐫ů 
 

1 m3 − 50 litrů =      950       litrů 

___________________________________________________________________________ 
 

V záznamovém archu uveďte čísla doplněná do rámečků. 
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